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ECONOMICS
Paper : ECO-HC-2016

( Introductory Macroeconomics )

( Honours Cofe )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate ﬁzll marks
for the questions

1. Answer any teﬁ from the following questions :
1x10=10

Wmﬁmww‘iﬁm:

(a) Who was the first economist to have
coined the term ‘macroeconomics’?

swfRft @i’y menzBr e AR
aes fifRe ? |

(b) What is meant by depreciation cost?

Wmﬁmﬁﬁ-m?
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(2)

(c) Distinguish between intermediate goods
and final goods.
RS A A TR ARAT TS AN Ay
F]q

(d) Give one example of transfer payment.

=HIEA RO b1 Sarza o |

(e) Define gross domestic product.
35 TRl Sesea e fau |

() Whatis velacity of f:irculgﬁon of money?

@R oo feere &2

(g9 What is money supply?
@R @ 2

(h) How does credit creation affect money
supply?
o RE T QAR @RS ([N dOR
COeT ? ’

i) What is liquidity preference?
o[ o 7

() Define ‘open market operations’ as a
tool of monetary policy.

o1 AR =i Rt T Iw/ A’y i
faam ‘
22A/1097 - { Continued )

(3)

(k) Distinguish between demand-pull
inflation and cost-push inflation.

iR eefre JErFRR W e el
&S AN Ay 31

() Which country is facing ‘hyperinflation’
recently?

2T TS @R (01 S AR
IR

(m} Mention Say’s law of market.

¢’3 IHR RAG Sag 91

(n) State one essential condition of
Keynesian income determination.

PR Wy FRE IR 7 @b Sy
01

(o) In which case is LM curve horizontal?

¥ cFEe LM @ wisfie 22
2. Answer any five from the following

questions : 2x5=10

O ARRA R e Ao e f

(a) Distinguish between real GDP and
nominal GDP. :
TS TP TFA T W AT P T
TR TS “f1f fiefy 47 1

22A/1097

{ Turn Over )



(b)

()

(d)

(e)

{g)

(h

22A/1097

(4)

Mention two types of transactions that
are included in the current account of
balance of payment.

ReA TR vfre Rere wwge R Ry
WWWW1

What do price indices show?
R e B @

Distinguish between.  net domestic
product and net national product.

0% 9941 T IF % I8 SeAwTT TS
N a7 |

Write any two functions of money.
T R e 11 3R o o
What is speculative demand for money?

TR FEALS AfSam 2

Define inflationary gap.

R R e o

What is money multiplier formula?

@ @R 0! [

{ Continued )

(5)

3. Answer -any . four from the  following
questions : 5x4=20

Wﬁwﬁmmﬁmﬁmﬁm:

(a) Distinguish between balance of
payment and balance of trade with
example.

TRE e Ren| el o SN
- IeR Were <N Ay 91

(b) Dlstmgulsh between current and capital
accounts of balance of payments.

*ARCIF TSR sﬁ"ﬁmw‘{a@ o
" Nl R

{c) How would you measure gross national
expenditure? State the limitations of
this method. |

(d) Discuss the modern approach to mohey
supply.
TR QR RIS W{ﬁ?ﬁ QR SACAAT
01

fe) Explain the thre¢ motives for demand
for money according to Keynes.

|
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(6) 7))

() What is liquidity trap? Explain its {c) Explain the process of circular flow of
significance on monetary policy income. In what ways do international
| transactions affect this flow within a

ORen 1 3 7 Y@ S TR e I 41 | closed economy? ‘ 7+3=10
: ] - S . R SHW AT AfFERH U I} Fm
(g} Explain the causes for the shift of the IS T wEEfes SMH-awie 9% A
and LM curves. , .
T ASRIS T 2
IS =% LM @41 7o TARRe @R FRPz :
JARM A . (d) Critically explain the cash transaction
approach to the quantity theory of
(h) What is fiscal multiplier? What factors | " money. '
affect fiscal multiplier? TR oﬁmq W@ MR R W’CBI
IR B 7 TR BT AoEIfe | PO T 4
TAMITTR ? '
o R _ (¢) Compare and contrast between cash
‘ ' transaction and cash balance approach
4. Answer any four from the following to the quantity theory of money. Which.
questions : : 10x4=40 one is superior? Give reasons. 7+3=10
o] 2Ad R e v T i TR AR G A9TS WS T G-
. . &gl 1
(a) Explain the various basic issues studled : o qué w KAk
in macroeconomics. R 7 3%
TR SRS Sy BALR ﬁ'w'ﬂs{q A ij] vExplain the various tools of monetary
F9I policy. Which one is appropriate to the
‘ , developing countries? Give reasons. 8+2=10
(b) stcuss.the.process of national income ' LUl Az Rvw m [ A |
accounting in an open economy.
~ \ : qiRE TR (MR IR TS ? IWe
T& AT W W A9 AR e woefia |

90|
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(8)

(g) Define inflation. Explain social costs of

inflation. | 3+7=10
Wt s g Erdikt SR
TSPLZ M

(h) Evaluate the Keynésian model of income
determination. : ’
@R R R DR Jere w4 |

i Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

L R T VR L 0 SRR A

T A OF GAON AT ém%$'mﬂ$pqg
wigfer

() Derive IS and LM curves Explain their
properties. - 6+4=10

IS W€ LM mwqu|Wm{§
?UHTIWI

.

L& &
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